

$$\{1\} \quad 1=1^2$$

$$\{1, 4\} \quad 4=2^2$$

$$\{1, 4, 9\} \quad 9=3^2$$

$$\rightarrow 1^2 = 1$$

$$\rightarrow 2^2 = 4$$

$$\rightarrow \{1, 4, 9, \dots, 16\}$$

$$\frac{a+b}{2} = \frac{1+16}{2} = \frac{17}{2} = 8.5$$

(1)

$$b_n = a_{n+1} - 1$$

$$a_n = \frac{1}{r} b_n \rightarrow b_n = r a_n \quad \begin{cases} r a_n = a_{n+1} - 1 \\ a_{n+1} = r a_n + 1 \end{cases}$$

$$a_1 = 1$$

$$b_1 = r a_1 = r \times 1 = r \rightarrow \{1, r, r^2\}$$

$$n=2: a_2 = r a_1 + 1 = r \times 1 + 1 = r + 1 \rightarrow \{r, r^2, \dots, 16\}$$

$$n=3: a_3 = r a_2 + 1 = r(r+1) + 1 = r^2 + r + 1 \rightarrow b_3 = r a_3 = r^3 + r^2 + r$$

$$n=4: a_4 = r a_3 + 1 = r(r^2 + r + 1) + 1 = r^3 + r^2 + r + 1 \rightarrow b_4 = r a_4 = r^4 + r^3 + r^2 + r$$

$$n=5: a_5 = r a_4 + 1 = r(r^3 + r^2 + r + 1) + 1 = r^4 + r^3 + r^2 + r + 1 \rightarrow b_5 = r a_5 = r^5 + r^4 + r^3 + r^2 + r$$

$$\frac{a_5 + b_5}{2} = \frac{1 + 16}{2} = \frac{17}{2} = 8.5$$

(2)

$$a_0 = 1 \quad a_1 = 1/r$$

$$A = \frac{1}{v_0} (-a_0) = \frac{1}{v_0} \times (-1) = -\frac{1}{v_0} = -\frac{1}{a} \quad A = -0.1$$

$$a_0 = A(a_0^2) + B(a_0) + C = 1$$

$$-0.1 \times 1 + B \times 1 + C = 1$$

$$B + C = 1.1$$

$$a_1 = A(a_1^2) + B(a_1) + C = 1/r$$

$$-0.1 \times (1/r) + B(1/r) + C = 1/r$$

$$B + C = 1.1$$

$$\begin{cases} B + C = 1.1 \\ B + C = 1.1 \end{cases}$$

$$B + C = 1.1$$

$$B = 1 \rightarrow B = 1$$

$$C = -0.1$$

$$C = -0.1$$

$$a_n = -0.1 n^2 + r n - 1$$

$$a_1 = -0.1 + r - 1 = r - 1.1$$

$$a_{10} = -0.1 \times 100 + r \times 10 - 1 = 10r - 11$$

$$\frac{a_{10}}{a_1} = \frac{10r - 11}{r - 1.1} = 10$$

(3)

$$a_r = b_r \quad a_1 = b_1 \quad b_{10} = 0$$

$$b_n = b_m + (n-m)d', \quad a_n = a_m + (n-m)d$$

$$b_{10} = b_r + (10-r)d' = 0 \quad b_r + rd' = 0$$

$$b_r = -rd' \rightarrow a_r = -rd'$$

$$a_1 = a_r + (1-r)d \rightarrow a_1 = a_r + rd \rightarrow a_r = a_1 - rd$$

$$b_r = b_1 + (r-1)d' \rightarrow b_r = b_1 + rd' \quad b_1 = b_r - rd'$$

$$\rightarrow a_r = a_1 - rd'$$

$$a_1 - rd = a_1 - rd' \quad -rd = -rd' \rightarrow d' = \frac{r}{d} d$$

$$b_{10} = b_{10} + (10-10)d' \rightarrow b_{10} = 0 + rd'$$

$$b_{10} = rd' \rightarrow b_{10} = d(\frac{r}{d} d) = rd$$

$$\frac{b_{10}}{d} = \frac{rd}{d} = r$$

(4)

$$a_0 = r^0 = 1$$

$$a_1 = -r \times 0 + r = r$$

$$a_r = \left[\frac{r}{1+r} \right] + a = 1 + a$$

$$a_r = r^1 = r$$

$$a_r = -r \times 1 + r = 0$$

$$a_0 = \left[\frac{0}{1+0} \right] + a = 1 + a$$

$$a_r = r^r = r$$

$$a_r = -r \times r + r = 0$$

$$a_1 = \left[\frac{1}{1+1} \right] + a = 0.5 + a$$

$$a_1 = r^1 = r$$

$$S_{10} = r_0 + r_1 + \dots + r_{10} = 1 + r + \dots + r^{10}$$

$$a = -r$$

$$a_r + a_0 + a_1 + \dots + a_{10} =$$

$$(-1) + 0 + \dots + 0 = -1$$

$$a_r = a + d$$

$$a_{r^2} = a + r^2 d$$

$$4(a+d)^r = 5(a+r^2 d)a + r(a+d)a$$

$$4(a^r + r^2 ad + d^r) = (5a^r + 10ad) + (ra^r + ra^2 d)$$

$$4a^r + 4r^2 ad + 4d^r = 5a^r + 10ad + ra^r + ra^2 d$$

$$ra^r + ad - 4d^r = 0$$

$$r\left(\frac{a}{d}\right)^r + \left(\frac{a}{d}\right) - 4 = 0$$

$$rx^r + x - 4 = 0$$

$$rx^r + (x - rx - 4) = 0$$

$$rx(x+r) - r(x+r) = 0$$

$$(rx - r)(x+r) = 0$$

$$rx - r = 0 \rightarrow rx = r \quad x = \frac{r}{r}$$

$$x + r = 0 \rightarrow x = -r$$

$$\frac{a}{d} = \frac{r}{r} \quad \frac{a}{d} = -r$$

$$\frac{a}{d} = -r \quad \frac{a}{d} = -r \quad -r + r = 1$$

$$\frac{a}{d} \in \left\{ \frac{1}{r}, 1 \right\}$$

$$r^2 b = a + c$$

$$a^r = bc$$

$$a^r = (a+d)(a+rd)$$

$$= a^r + rad + ad + rd^r$$

$$= a^r + rad + rd^r$$

$$rad + rd^r = 0$$

$$d(r^2 a + rd) = 0$$

$$ra + d = 0$$

$$rd = -ra$$

$$d = -\frac{r}{r} a$$

$$r = \frac{a}{b}$$

$$b = a + \left(-\frac{r}{r} a\right) = a - \frac{r}{r} a = -\frac{1}{r} a$$

$$b = -\frac{a}{r}$$

$$\left. \begin{matrix} b = ar \\ c = ar^r \\ b^r = ac \\ ra = \frac{rb+c}{r} \rightarrow ra = rb+c \end{matrix} \right\} \rightarrow$$

$$ra = r^2 ar + ar^r$$

$$ra = r^2 ar + ar^r$$

$$\rightarrow r = r^2 r + r^r$$

$$\div a \quad r^r + r^r - r = 0 \rightarrow (r+r)(r-1) = 0 \rightarrow r = -r \quad r = 1$$

$$\frac{a_q}{a_q} = r^{q-q} = r^0 = 1 = (-r)^r = -r^r$$

$$a_r = ar^{r-1} = ar$$

$$a_q = ar^{q-1} = ar^a$$

$$\frac{a_q}{(a_r)^r} = \frac{a_r}{a^r} = r \rightarrow \frac{ar^a}{(ar)^r} + \frac{ar}{a^r} = r \rightarrow \frac{ar^a}{a^r r^r} = \frac{r^{a-r}}{a^{r-1}} = \frac{r^r}{a^r}$$

$$\left(\frac{r}{a}\right)^r + \frac{r}{a} = r \rightarrow \left(\frac{r}{a}\right)^r + \frac{r}{a} - r = 0 \rightarrow \left(\frac{r}{a} + r\right)\left(\frac{r}{a} - 1\right) = 0 \rightarrow \frac{r}{a} = -r \quad \frac{r}{a} = 1$$

$$\frac{a^r}{a_r} = \frac{a^r}{ar} = \frac{a}{r} \rightarrow \frac{a}{r} = \frac{1}{-r} = -\frac{1}{r} \quad \frac{a}{r} = \frac{1}{1} = 1 \quad \frac{a^r}{a_r} \in \left\{ -\frac{1}{r}, 1 \right\}$$

$$a_r = \sqrt{ar} \rightarrow a_r^r = ar$$

$$a_{r^2} = a_r \times r$$

$$a_r = r$$

$$a_r = r \times r = r^r$$

$$a_d = r^r \times r = r^{r^2}$$

$$r^r = r^r \quad r = r$$

$$a_d = a_1 \times r^r$$

$$r^r = a_1 \times r^r$$

$$a_1 = \frac{r^r}{r^r} = \frac{1}{r}$$

$$\frac{1}{r} - a_1 = \frac{1}{r} - \frac{1}{r} = \frac{r-r}{r} = \frac{1}{r}$$